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def fib(n):

ab=11

for i in range(n-1):

return a#IR [B1 58 100 MEEK AR EF
print fib(100)
A.
ab=batb
(EWER)
B.
ba=Dbat+b
HBRER)
C.
ab=a+tbb
HBRER)
D.
ab=atba
HBRER)

2.
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def fib(n):
fn==lorn==2
return 1

print (fib(100))

A

return fib(n-1)+fib(n-2)
(EHER)

B.

return fib(n)+fib(n-2)
FERER)

C.

. HIHE 100 NI

o HIHIEE 100 MK



fib(n-2)+fib(n-2)
(HERER)

D.

return fib(n-1)
return fib(n-2)

(HERER)

3.

B EiE—MhE.
import time

myD = {1’a’, 2'b", 3:'c’, 4:'d’", 5:'e’, 6:'f", 7:'g'}

for key,value in dict.items(myD):
print(key,value)

HE B

A

time.sleep(1)
(EWER)

B.
time.sleep(1000)
HBRER)

C.

time.delay(1)
HBRER)

D.
time.delay(1000)
HRER)

4.
def fun(x,y):
global y
t=x
X=y
y=t
x=0
y=1
fun(x,y)
print(x,y)
HERE



def f(n):
if n==0:
return O
elif n==1:
return 1
return f(n-1)+f(n-2)
print(4)
ZERE

6.
BRELTFTENH 1,23 B9 6 DMES, Z=HEEZ
def f(n):
for a in range(1,n):
for b in range(1,n):
for cin range(1,n):
if :
print(a,b,c)
A
al=b and b!=cand c!=a
(4)
(EHER)
B.

al=b and b!=c and c!=a



f(3)
(HERER)

C.

al=b and bl=c
f(4)
HBRER)

D.

al=b and bl=c
f(3)

(HERER)

7.

def f(a,b):
t=a
a=b
b=t

a=1

b=2

f(a,b)

print(a,b)

HERE

A

12

(EHER)

B.

21

(%Eﬂf %)

C.

22

(%Eﬂf %)

D.

11

(%Eﬂf %)

8.
def f():
global a,b
t=a
a=b
b=t
a=1
b=2
f()
print(a,b)



9.
def f(s):
—-—
forxins:
t=x+t
return t
s="xyz"
print(f(s))
ZERE
A
Zyx
(EHER)

Xyz

10.
BE: FAEBIATEK S,
B BIHAT: fn=fn_1+4!

def fact()):
sum = 0
ifj==0:
sum =1

else:



sum =
return sum
for i in range(5):
print (‘%d! = %d" % (i,fact(i)))
A.
1)

J * fact())
ERER)

C.

(j-1) * fact(j - 1)
HBRER)

D.

(j+1) = fact(j + 1)
HBRER)



